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2N
X ZH -
L= B

el

SA Y- G(SH) - MSAY - HES 01l &t o4 il HimES
ONOIoTE ord ZA @ Ua (&80
900,000 900
= 900
gstHs S MEae 2 13,260 13,260 0
= 13,260
308 XXM SO0 A 13,260 13,260 0
= 13,260
01 AXSGHBLEES 13,260 13,260 0
OALIIsAE ME2E XA 13,260,000 13,260
= 13,260
gt 2 XNAAM faz2e XH 6,472 6,472 0
= 3,236
= 3,236
201 B2l 1,348 1,348 0
- 674
< 674
02 2322l 1,348 1,348 0
OME UHUAN % (S SBY 29
1,348,000 1,348
- 674
= 674
202 O4HI 3,384 3,384 0
= 1,692
< 1,692
01 =2 LHAO YI 3,384 3,384 0
OASoHE 2ZA & U3 3,384,000 3,384
= 1,692
< 1,692
206 M= Hl 1,740 1,740 0
= 870
< 870
01 M= 8l 1,740 1,740 0
OAlZotdE ZA & tHE A=A 1,740,000 1,740
= 870
= 870
BSOS U XRH M2 X (AN2BH) 47,776 47,776 0
= 47,776
308 XXM S0 A 47,776 47,776 0
= 47,776
01 AXNSGHBLEES 47,776 47,776 0
OAZetE 2Al & HESAMY XF 47,776,000 47,776
= 47,776
FE HE otd e 2,200 1,500 700
= 2,200
308 X XIEtH S0l A 2,200 1,500 700




N ALSTAS Y
M AE QM 2L
& AF 2t (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 2,200
01 IXNHHBNEES 2,200 1,500 700
ORsS =tts oM 2t 2,200,000 2,200
= 2,200
SN 2 Az 4,131,380 3,758,520 372,860
= 3,122,200
< 1,009, 180
SN L AF M ae 79,600 209,540 A 129,940
301 LA S 11,600 11,600 0
12JIEBE43 11,600 11,600 0
OS2 AE &=l 3,600,000 3,600
OZS?d & ASAMY Agrga AT 8
243 8,000,000 8,000
307 21201 A 18,000 19,440 A 1,440
04 DIZHHALALSE E X 18,000 19,440 A 1,440
oololE FHthal XA 18,000, 000 18,000
403 UtXISHH S0l & 50,000 178,500 A 128,500
01 XM A2E X 50,000 178,500 A 128,500
OSAE AHOE AME HEAY
50,000, 000 50,000
OelolsSaZelXN3dH 43 249 3,937,300 3,492,480 444,820
= 3,021,100
< 916,200
308 A EHSOIA 3,937,300 3,492,480 444,820
= 3,021,100
< 916,200
01 HIXNHHBMNEES 3,937,300 3,492,480 444,820
O0eol SAZe XA 22X
3,927,430, 000 3,927,430
= 3,021,100
< 906,330
O0eol SAZeldH SAX MRoHA
9,870,000 9,870
HelopllsAsZdgacd 29 53,500 53,500 0
= 53,500
308 AHAIEHHSOIA 53,500 53,500 0
= 53,500
01 HIXNHHNBMNEELES 53,500 53,500 0
O0gol JIsAas dgaeld gsH X
53,500,000 53,500
= 53,500
FAMEES 2t 22 3,000 3,000 0
= 3,000
308 MtXIEHMSOIH 3,000 3,000 0




N ALSTAS Y
M AE QM 2L
Sl TEAM U ABIMBR CEEEED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 3,000
01 IXNHHBNEES 3,000 3,000 0
ORsES AMES M2 3,000,000 3,000
= 3,000
AANEE A 57,980 0 57,980
= 44,600
< 13,380
308 XtXIEHHSOIA 57,980 0 57,980
= 44,600
< 13,380
01 AXHHILEES 57,980 0 57,980
O&lAM=23s e 57,980,000 57,980
= 44,600
= 13,380
2 =2 BHoz MblA 2= 71,359,961 69,375,286 1,984,675
= 18,066,968
J| 30,796,467
EN 96,000
< 22,400,526
AHatof & 1,963,345 1,085,132 878,213
J| 891,335
N 96,000
< 976,010
Aol ALY K& 565,000 640,000 275,000
303 Z& = 100,000 100,000 0
01 Z2&= 100,000 100,000 0
ONEUEAY A2 & A L&
100,000,000 100,000
308 XtXIEHHSOIA 465,000 510,000 A 45,000
01 HXNHHNBHELS 465,000 510,000 A 45,000
Okolxtaoleg HEd At 465,000,000 465,000
M2t 2SN (ALAHEDNLA) 96,000 90,000 6,000
N 96,000
307 glz2tol & 36,000 30,000 6,000
N 36,000
02 IZtE M AHE X 36,000 30,000 6,000
OXaneg 22 XA 36,000,000 36,000
EN 36,000
308 XXM SOIA 60,000 60,000 0
EN 60,000
01 IXNSHHBANEES 60,000 60,000 0
OMIANY S BH L [ANY 22 X8
60,000, 000 60,000
EN 60,000




EA: HLSIAE D
Hu: N g2 PAAR MHIA RS
(= BN 30 (R=1; (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
NS ARI S BAUHLSA 32,000 32,000 0
J| 32,000
307 2Iz2t0| & 32,000 32,000 0
Jl 32,000
02 DI AAIRE E X 32,000 32,000 0
OX&SALRIT & BAMHAUSA
32,000,000 32,000
J| 32,000
KA AE =302 QEES 778,983 323,132 455,851
Dl 532,335
= 246,648
307 212t0| & 248,423 70,630 177,793
9] 124,212
o 124,211
02 QIZHEAAIRE E X 248,423 70,630 177,793
OB TAUSAIY 8|2 o2tats
248,423,000 248,423
Il 124,212
== 124,211
308 XX SHHSOIH 530,560 252,502 278,058
p] 408,123
o= 122,437
01 AIXSHMENEXZ 530,560 252,502 278,058
OJIE TIAOIgAl 802 ol2iss
530,560,000 530,560
Dl 408,123
= 122,437
A K5 FAS AMHA 459,362 0 459,362
J| 295,000
o= 164,362
307 212t0| & 216,750 0 216,750
J| 108,375
= 108,375
02 DIZHBAAIE E X 216,750 0 216,750
Ot & JAE HMUlA 29 N
216,750,000 216,750
Dl 108,375
= 108,375
308 Xt Xl &AM S0 & 242,612 0 242,612
J| 186,625
= 55,987
01 X HHIMNEEXTZ 242,612 0 242,612
O 5 FAE HUHIA XN 242,612,000 242 612
J| 186,625
& 55,987
el = X3 AFY 32,000 0 32,000




EA: HLSIAE D
Hu: N g2 PAAR MHIA RS
(= BN 30 (R=1; (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Pl 32,000
307 2iz2to| A 32,000 0 32,000
J| 32,000
02 QIZIA AAIE E X 32,000 0 32,000
OXa 8= & AL 32,000,000 32,000
J| 32,000
ALS X235 19,649,037 19,451,205 197,832
= 1,845,688
J| 11,431,906
=} 6,371,443
KEAS] SSHAHASTAIL(E) 221,578 218,778 2,800
J| 110,789
& 110,789
101 2121 4| 29,778 29,778 0
J| 14,889
& 14,889
03 222 (RIHA) 22X E 29,778 29,778 0
OEESHUS T ALY 2l HH| 29,778,000 29,778
bl 14,889
= 14,889
307 2Iz2t0| & 191,800 189,000 2,800
Jl 95,900
o= 95,900
05 QIZ2tREF 2 191,800 189,000 2,800
OSEHALZTAANNAY 2% T
191,800,000 191,800
J| 95,900
& 95,900
K EA] SSAHALSTAIS (AZ) 5,318,517 5,251,301 67,216
J| 4,091,167
& 1,227,350
308 XX SHHSOIA 5,318,517 5,251,301 67,216
J| 4,091,167
o 1,227,350
01 AIXSHMENEXZ 5,318,517 5,251,301 67,216
OXEAZ SeSAHLSTAIE &
5,318,517,000 5,318,517
Jl 4,091,167
== 1,227,350
DHrY AN Of 602,098 546,260 55,838
J| 463,152
o= 138,946
308 MXISHMSOIA 602,098 546,260 55,838
J| 463,152
o=} 138,946
01 AIXSHMENEXZ 602,098 546,260 55,838




2N

AYSTAE
g 2 22 2222 AMdlA 7=
Sl AYSTL 3 CER-ED
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
O=2Hte A0 602,098,000 602,098
Jl 463,152
S 138,946
Al 2l S A HE (L 2) 2,118,594 2,091,891 26,703
= 1,629,688
= 488,906
308 XXM SOl & 2,118,594 2,091,891 26,703
= 1,629,688
= 488,906
01 UXESHHBLEXS 2,118,594 2,091,891 26,703
ogd=zad2cIMmg X 2,118,594,000 2,118,594
= 1,629,688
S 488,906
2 BHLEEE 20t 54 20,580 16,170 4,410
Jl 19,110
S 1,470
201 LBt2 2,940 0 2,940
p] 1,470
< 1,470
01 A2 22l 2,940 0 2,940
OSgTe AQAE L AAXA FNTP(E)
2,940,000 2,940
Il 1,470
[ 1,470
308 Xt &M S 01 H 17,640 16,170 1,470
Jl 17,640
01 HAHHZBEES 17,640 16,170 1,470
OOLEZE AFHE L AL EA FNTP
17,640,000 17,640
2l 17,640
AL gEEML2AAMNE XNIMEX 69,412 69,412 0
Jl 34,706
£ 34,706
307 212t0l & 69,412 69,412 0
b 34,706
£ 34,706
05 It E = 69,412 69,412 0
OMLERES HYB2IAY DA N
69,412,000 69,412
| 34,706
< 34,706
=Jrg2tel XM X 2,173,600 2,355,600 A 182,000
Jl 1,672,000
S 501,600
308 XXM S0l ™ 2,173,600 2,355,600 A 182,000
Jl 1,672,000




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 501,600
01 IXNHHBNEES 2,173,600 2,355,600 A 182,000
Og ZJIE&MY XI& 2,173,600, 000 2,173,600
J| 1,672,000
< 501,600
2EX olEH ¥ Morgzel KA (HEAY) 2,418,062 2,418,062 0
308 XX EHHSOIA 2,418,062 2,418,062 0
01 AXHHILEES 2,418,062 2,418,062 0
2@k ozH XA 2,308,800, 000 2,308,800
OMOIt &t el At 109, 262,000 109,262
S0 LEHZ T XA 271,207 293,487 N 22,280
J| 252,285
< 18,922
308 XXM SO0 A 271,207 293,487 A22,280
J| 252,285
< 18,922
01 IXNSHHBNEES 271,207 293,487 A 22,280
Ofsst=ca A LerA2dH3 & 271,207,000 271,207
Jl| 252,285
< 18,922
=0 HN HZZA 2t S E2HI 17,200 17,200 0
J| 16,000
< 1,200
308 MXIEHSOIH 17,200 17,200 0
J| 16,000
< 1,200
01 HXNHHBHELS 17,200 17,200 0
O z2s=Sad 22 24
17,200,000 17,200
J| 16,000
< 1,200
228022 R0IFAH X 29,080 23,703 5,377
J| 27,051
< 2,029
308 XtXIEHHSOIA 29,080 23,703 5,377
J| 27,051
< 2,029
01 X HHILEES 29,080 23,703 5,377
Ogzsd==dx ER0tF&H X&
29,080,000 29,080
J| 27,051
< 2,029
R0 LLHOM FLZAH K& 42,469 36,111 6,358
J| 39,506
< 2,963




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 42,469 36,111 6,358
J| 39,506
< 2,963
01 HIXNHHBHNEELES 42,469 36,111 6,358
OYKO0L L0 LAY X2
42,469,000 42,469
J| 39,506
< 2,963
SIAUXSE EEX 2=H XA 2,193,948 1,541,243 652,705
J| 1,828,290
< 365,658
308 A EHHSOIA 2,193,948 1,541,243 652,705
J| 1,828,290
< 365,658
01 HIXNHHNBMNEELES 2,193,948 1,541,243 652,705
OBIALUXLTER 224 X
2,193,948, 000 2,193,948
J| 1,828,290
< 365,658
NAASI AL ZAL ZALEA 2 546,996 512,605 34,391
J| 546,996
308 MXIEHMSOIH 546,996 512,605 34,391
J| 546,996
01 HXNHHNBHEES 546,996 512,605 34,391
OXGAS AZEAL AFSY X & 546,996,000 546,996
J| 546,996
KNAMBBSAZHANAMEIA(Z) 34,500 34,500 0
J| 17,250
= 17,250
202 o4dl 4,500 4,500 0
J| 2,250
< 2,250
03 =2 R0l 4,500 4,500 0
ONAASIZA SANAMHIA 29I+ K&
4,500,000 4,500
J| 2,250
< 2,250
307 gl & 30,000 30,000 0
J| 15,000
< 15,000
05 RIZHRI & 3 30,000 30,000 0
OXNAABIZA SHAY RIS X2
30,000, 000 30,000
J| 15,000
< 15,000
NSEAS S SAXNIMEIA(AIZE ) 2,657,629 2,818,731 A 161,102




2N

21 A
™NEH: R =9 o
L= B = I —_

21 2

©el: AL ST (29l 8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 2,044,330
< 613,299
308 XX EHHSOIA 2,657,629 2,818,731 A 161,102
J| 2,044,330
< 613,299
01 HIXNHHBNEES 2,657,629 2,818,731 A 161,102
OXgAsl =4 SHAY XIF¥  2,657,629,000 2,657,629
J| 2,044,330
< 613,299
HASEE SHNZ NI ALY 254,574 363,759 A 109,185
J| 254,574
308 XtXIEHH SOl A 254,574 363,759 A 109, 185
J| 254,574
13 2SOHetE & X 2 E AL I 254,574 363,759 A 109,185
OMASE =8IZ N 254,574,000 254,574
J| 254,574
dEy 82 - 22l 432,000 510,000 A78,000
= 216,000
< 216,000
307 gl2tol & 432,000 510,000 A78,000
= 216,000
< 216,000
02 It M AHE L 432,000 510,000 AT78,000
OFgzd HoHe LI HH 2SN
432,000, 000 432,000
= 216,000
< 216,000
BHEY A0t B0t N 6,885 6,885 0
307 21201 A 6,885 6,885 0
02 It S AHEE L 6,885 6,885 0
Ouwdyd A0t &0tXR 6,885,000 6,885
SHExX HAZHAXE 58,943 65,492 N6,549
308 XX EHSOIA 58,943 65,492 A6,549
01 HIXNHHNBMNEELES 58,943 65,492 N6,549
OsolY HE o HYMY XAY N
58,943,000 58,943
Ao EadE g8gs aad XA 45,000 90,046 A 45,046
308 XM SOIH 45,000 90,046 A 45,046
01 HXNHHBHELS 45,000 90,046 A 45,046
OdLg2ZE 83 Zad X
45,000,000 45,000
folotS F=X2AM AL 59,696 66,328 A6,632
308 XXIEHHSOIA 59,696 66,328 A6,632




EA: HLSIAE D
Hu: N g2 PAAR MHIA RS
Sl AYSTL 3 CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AIKSHMEAMNEX= 59,696 66,328 N6,632
2202 F=X2HM ArY K& 59,696,000 59,696
HAaE (o 83285 819 IS XSAY 41,769 46,410 N4 641
308 XHXIGHH SO0l & 41,769 46,410 N4, 641
01 IXHHIMNEXS 41,769 46,410 A4 641
Ogd 2es sog2dxzs A 41,769,000 41,769
XN BAHAAIY 245Atd 22 225 s 14,700 14,700 0
J| 14,700
308 XX SHHSOIH 14,700 14,700 0
J| 14,700
01 AIXSHMENEXZ 14,700 14,700 0
OX<E EHAIY LAt &2 A4 W=
14,700,000 14,700
J| 14,700
AL - X022l 49,747,579 48,838,949 908,630
= 16,221,280
J| 18,473,226
= 15,053,073
HAHY MO/ & 2Y 13,005 15,300 A2,295
201 et | 13,005 15,300 N2,295
01 AP 2t 2] d| 13,005 15,300 A2,295
OFNAHL AoRRF & &Y 13,005,000 13,005
=8N ALY=SXAEH KR 1,915,930 1,915,930 0
J| 1,473,792
o 442 138
308 XX SHHSOIH 1,915,930 1,915,930 0
J| 1,473,792
o= 442 138
01 AIXSHMEMNEXZ 1,915,930 1,915,930 0
OJI=dAAL=SXNHEH XA 1,915,930, 000 1,915,930
J| 1,473,792
& 442 138
NEHMNAUXSAAEH 2SI 31,514 31,514 0
308 XHXIEHSOIA 31,514 31,514 0
01 AIXSHMEMNEX= 31,514 31,514 0
OJI=HAMNAL=SXNHE SAHA HR2IA Y]
31,514,000 31,514
SAFAMNALSXHEH XA 861,284 861,284 0
J| 430,642
& 430,642
307 2Iz2t0| & 861,284 861,284 0
Dl 430,642
& 430,642




2N

n
Ha: E g2 PAAZ NUlA 7E
¢l FA - X042t (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
05 RIZHRI & 3 861,284 861,284 0
OFGFUAL=RNHEEH 22| 861,284,000 861,284
J| 430,642
< 430,642
ZAFAMAHLSINEYH 2 XA 303,920 134,307 169,613
307 glz2t0ol & 303,920 134,307 169,613
02 HAHFHAANGFEX 25,920 25,770 150
OBARAALSNME HSHA Y]
25,920,000 25,920
03 A EE2HHIES 167,000 38,537 128,463
OZAJ AL =XNHEH LX= 167,000,000 167,000
05 RIZHRIE 3 111,000 70,000 41,000
OsZdH(Melagd) 2Y 111,000, 000 111,000
NEZAMEHAAMS XIS 231,324 257,027 A 25,703
308 XXM SOIA 231,324 257,027 A 25,703
01 IXNHHBNEES 231,324 257,027 A 25,703
OXNSEHAMEHANY XA 231,324,000 231,324
FAURAANE 2EXH 19,340,520 17,809, 386 1,531,134
= 13,538,364
< 5,802,156
308 XtXIEHHSOIA 19,340,520 17,809, 386 1,531,134
= 13,538,364
< 5,802,156
01 X HHILEES 19,340,520 17,809, 386 1,531,134
OHAUQLAAE 2HXE 19,340,520, 000 19,340,520
= 13,538,364
= 5,802,156
FAQLAANE, FUTHEANE JIsEL 3,510,873 3,510,873 0
= 2,340,582
< 1,170,291
403 MHXSHHSA=0l& 3,510,873 3,510,873 0
= 2,340,582
< 1,170,291
01 HXSHMA=E X 3,510,873 3,510,873 0
OFZUAHLSIANE JIsEL N
3,510,873,000 3,510,873
= 2,340,582
< 1,170,291
FATHEAE 29X 683,658 611,317 72,341
308 XX EHH SOl A 683,658 611,317 72,341
01 HXNHHBHEELS 683,658 611,317 72,341
OFUNUTHEANE 2EXA 683,658,000 683,658




EA: HLSIAE D
Hu: N g2 PAAR MHIA RS
R A - X2l (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HAALSEAIE XS 288,720 204,912 83,808
308 XAHXIEHSOIA 288,720 204,912 83,808
01 AIXSHMENEX= 288,720 204,912 83,808
OFNAHLSEAIE SAN HMA
216,540,000 216,540
OFNAHLSEAIE SAA BHSAH X
72,180,000 72,180
HAMNEEI X=H X 87,553 221,000 N 133,447
= 67,354
o= 20,199
308 XX SHHSOIH 87,553 221,000 A 133,447
= 67,354
o= 20,199
01 AIXSHMENEXZ 87,553 221,000 N 133,447
OXANEEI XIE2Hl XA 87,553,000 87,553
= 67,354
= 20,199
I ZHANALAEXNHE 1 &= 1,369,415 1,369,415 0]
J| 1,053,396
& 316,019
308 XX G SOl A 1,369,415 1,369,415 0
J| 1,053,396
= 316,019
01 AIKSHHEMNEX= 1,369,415 1,369,415 0
ONEFHMALSTME 012 &
1,369,415,000 1,369,415
J| 1,053,396
& 316,019
S8 24 674,466 674,466 0
J| 337,233
& 337,233
307 2Iz2to| A 674,466 674,466 0
J| 337,233
& 337,233
02 QI AAIE E X 674,466 674,466 0
os2iHgdg 24 674,466,000 674,466
J| 337,233
& 337,233
SEHANAHALSIAIYE & 1,599,000 1,599,000 0
J| 1,230,000
&< 369,000
308 XAHXIGHH SO0l & 1,599,000 1,599,000 0
J| 1,230,000
& 369,000
01 HIXHHIMNEXS 1,599,000 1,599, 000 0




AN ALSTAF
Hu: N g2 PAAR MHIA RS
¢l FA - X042t (cho &)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OSEFHNALSTAI XA (XH&HHEH)
707,491,000 707,491
| 544,225
< 163,266
OSSHMALSAANY K (ZAAY)
891,509, 000 891,509
| 685,775
< 205,734
SEZNUALSEANY 28 X 520,000 520,000 0
| 260,000
< 260,000
307 gl2tol & 520,000 520,000 0
| 260,000
< 260,000
02 It HAHEE 520,000 520,000 0
OSEHENALSTAIY 2 X2 (Xraole)
310,000, 000 310,000
| 155,000
= 155,000
OSEINALSTAIY 2 X2 (Za2AHY)
210,000, 000 210,000
| 105,000
< 105,000
HASZHE 29 N 1,056,000 1,200,000 A 144,000
| 660,000
< 396,000
307 glz2tol & 1,056,000 1,200,000 A 144,000
J| 660,000
< 396,000
02 IZtF M AHE L 1,056,000 1,200,000 A 144,000
OFuEsdH 29 XA 1,056,000, 000 1,056,000
| 660,000
< 396,000
Aaoe & HAALSIAY 423,505 423,505 0
| 325,773
< 97,732
308 XXM S0l A 423,505 423,505 0
| 325,773
= 97,732
01 IXNHHBMNEES 423,505 423,505 0
OXIS XH&H0ll & A XI & 224,995,000 224,995
J| 173,073
< 51,922
OFMALESTAY K& 198,510,000 198,510
| 152,700
< 45,810
td==s==X4 X=z2sd N3 20,000 6,000 14,000




2N
X ZH -
L= B
el

AYSTAED
g2 2AAZ NUlA 7E
ol xlohzel

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 10,000
== 10,000
301 et M= 20,000 6,000 14,000
= 10,000
= 10,000
01 MIIBEEAESG2 20,000 6,000 14,000
Obtes =s==X x2Hl X 20,000,000 20,000
= 10,000
o= 10,000
SSASESNIHAEH X 214,474 211,929 2,545
= 164,980
& 49,494
308 XX SHHSOIA 214,474 211,929 2,545
= 164,980
& 49,494
01 IXHHIMNEEXTZ 214,474 211,929 2,545
O=ssH2SENIALHEH S EXNA 214,474,000 214,474
= 164,980
== 49,494
XOpeta (XI&)dH 29 X2 12,493,575 12,493,575 0
J| 12,042,000
= 451,575
308 AXISHXSOoIH 12,493,575 12,493,575 0
J| 12,042,000
o= 451,575
01 AXHNNBMNEXTZ 12,493,575 12,493,575 0
ORXIOfetAHE 29 X3 12,493,575,000 12,493,575
Dl 12,042,000
& 451,575
XOHXIS2eldl K (HEAY) 2,665,000 2,665,000 0
308 AXISHAMSOIHA 2,665,000 2,665,000 0
01 IHXSHHBAE 2,665,000 2,665,000 0
ORXMX=2eld X 2,665,000,000 2,665,000
Xl O &R 2l dl X 394,740 420,240 A 25,500
308 AKX SHHSOIA 394,740 420,240 A 25,500
01 AIXHMBANEXZ 394,740 420,240 AN 25,500
OXlofat i el K& 229,500,000 229,500
OMIIXIME F2AESA A
165,240,000 165,240
ZAXMME &Y 619,719 616,029 3,690
J| 433,803
= 185,916
307 212t0| & 619,719 616,029 3,690
J| 433,803




SN ALBAA
X XH - X
(=R B

=
Sl & - XI0K

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
== 185,916
05 A2t E = 619,719 616,029 3,690
OZSEXHNEH 2H 619,719,000 619,719
J| 433,803
& 185,916
ZEXMMAEH 29 K& 44190 46,420 N2,230
307 212t0| & 44,190 46,420 N2,230
02 I2HF AALE B X 44,190 46,420 N2,230
OZEXNHAE SAX HSIM&H 13,590,000 13,590
ORI X235 =2 30,600,000 30,600
AXOHAEH XHBE2EA 5,357 5,357 0
Jl 3,750
& 1,607
307 QI2t0| ™ 5,357 5,357 0
Dl 3,750
== 1,607
02 AI2tAAMAIEE =X 5,357 5,357 0
OZEXNHAEH XMHEsF2Z A&
5,357,000 5,357
Dl 3,750
& 1,607
SSXNMHEC B225A XN 32,837 30,314 2,523
Jl 32,837
308 AXISHMSOIHA 32,837 30,314 2,523
Dl 32,837
01 HXHHNIMNEXS 32,837 30,314 2,523
OXizss3&AX 32,837,000 32,837
J| 32,837
ANZEAHIA S3AY 29X 247,000 247,000 0
Jl 190,000
o= 57,000
308 XX SHHSOIA 247,000 247,000 0
Dl 190,000
o= 57,000
01 AIXHMBAEXZ 247,000 247,000 0
OANZEQAYYEIA SSAtY &
247,000,000 247,000
J| 190,000
o= 57,000
2L 22 og 2342 XNE 100,000 0 100,000
= 100,000
307 212t0| & 100,000 0 100,000
= 100,000
02 DI2tF AALHE E X 100,000 0 100,000
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